056:054 Engineering Economy




NAME ______________________________

Quiz #11  Date: April 22,2004. SHOW ALL WORKING FOR MAXIMUM GRADES
☺☺☺☺☺
1)  You purchase a put option for 1000 E-Bay shares at a strike price of $68 with a market price of $73. The price of the put option is $4 per share. What is the net gain or loss if the market price at expiration is a. $69 and b. $60

a) 
Net  = ($4)(1000) = -$4000
b) 
Net = ($68-$60)(1000) – ($4)(1000) = $4000
2) What is the Excel function for a. Matrix/vector multiplication b. calculating the transpose of a matrix/vector
a) MMULT( )         

b) TRANSPOSE( )
3) A project has the following cash flow in constant dollars. Calculate the cash flow in actual dollars with an inflation rate of 3%.

Year

0
1
2
3
4

Cash Flow
-100
45
50
60
70

(Constant $)

Use: 
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	Year
	0
	1
	2
	3
	4

	Cash Flow

(Actual)
	-100
	45(1.03)^1
	50(1.03)^2
	60(1.03)^3
	70(1.03)^4


4)  What is the average compound inflation rate over 2 years if the inflation rates in years 1 and 2 are 2% and 5% respectively.
(1.02)(1.05) = 1.071

(1+f)^2 = 1.071

f = 3.489%

Continue over if needed
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